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1. R ues 9 d ¥ A 3w A § Tz ain

@ wegE A ¥) e Peafafen § A Peed
BERERE N B

(@ AfRS avg
(b) CO,
(c) IgEiAF 3

(d) AT

2. Tl qu 9 7 o D ¥ o o A eik

30 2 e ¥ foe saer o § @ T sy
S 3 I Yeohleial A Fmfst R sk
AR oA ¥ STERE RR T qdem %
qeTq W=t 1 Sifem T @/ Amme

(@) TN
(b) &

(c) em
(d) T%s

3. 4 #ra FHw A A wR PRl (RBCs)

1 9aF fFn s R el 3w wem ¥
T (FH 7 guerad faerm) § agga fen
STl 8, @ RBCs 1 941 8¢

(a) RBCs % Sy

(b) RBCs Fa@ il s we i

(c) RBCs fage smir

(d) RBCs % md # #1§ wftads =& dm
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4. 7Fq 30 ifea o % "eag d i
-4 FY & TE RY

(@ Fm# fafiet & a=a % foau g
2

(b) o= et % gl § wems o

(¢ T@ smEE ¥ 3 9 @™ ¥ =
pH %! I_EA (neutralize) a1 3|

(d) @ @™ % pH ' 4ig w3
A CegHt R A g
?I

5. W WIS ¥ Whe™ 120/80 mmHg
R ‘T’ e @) il §

(@) A9 Trer spam iR frem fasifs
(b) s Trer fasfa oin frem v
(c) HAN: AT’ Up=H 3R aafere fysit
(d) s Fea dgem oik aifer b3

6. #1§ i freht @ w=m (cliff) ¥ o
S @ 3R ek ¥ ss ¥ W
wfEf g @ ¥ R wh @

340 m/s ®, A @ =EgW A =fs -
forarett 7

(@) 1700 m

(b)) 170 m

(c) 85 m

(d) 850 m



1. A sPﬁnter feels cramps and pain in the
thigh muscles after a run. This is due
to accumulation of

s (@) lactic acid
(b) CO,
(c) pyruvic acid

(d) ethanol

2. A leaf was plucked from a plant on
a sunny day and kept for 2 minutes
in boiling water. It was subsequently
immersed in boiling alcohol and treated
with iodine solution. What will be the
final colour of the leaf after the test?
(a) Colourless
(b) Green

« (c) Blue

(d) White

3. If the red blood cells (RBCs) of human
blood are isolated and are diluted in
normal saline (an isotonic solution to
blood), what will happen to the RBCs?
(a) The RBCs will swell
(h) The RBCs will swell and burst
(c) The RBCs will shrink
(d) No change in the diameters of

the RBCs
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4. Which one of the following stat
regarding bile secret

ements
ed by liver is no

correct?

(a)

(b)

()

(d)

Bile contains enzymes for digestion
of lipids.

Bile facilitates emulsification of
fats.

Bile neutralizes the acidic pH of
the food coming from stomach.

Bile makes the pH of the food
alkaline and facilitates action of
pancreatic enzymes.

5. The blood pressure of a normal human
being is found to be 120/80 mmHg.
These ‘umbers’ represent the blood
pressure at

(@)

(b)

(c)

(d)

ventricular contraction and
ventricular relaxation, respectively

ventricular relaxation and ventri-
cular contraction, respectively

auricular contraction and auricular
relaxation, respectively
ventricular contraction and

auricular contraction, respectively

6. A person burned a firecracker in front of
a cliff and heard its echo 5s after it
burst. The distance of the cliff from
the person, if the speed of the sound
is 340 m/s, is close to

(@)
(b)
(c)

1700 m
170 m

85 m

(d) 850 m

[P.T.O.



7. WEHHN R ANEA B9 ¥ wfie ¥ AR d

10. 10 cm A g a1l o 1 & feerh 4

ﬁwﬁ«ﬁawﬁwﬁwﬁﬁq: (a) 0-1 IFATX
I WP, B 7% G5 (signal) (b) 1 IEHR
i v &1 (c) 10 SRAT
2. Wﬁ%‘m»“ﬁaﬁﬂﬁmﬂqﬂaﬁﬁ (d) 100 SEIT
TR
3. Wiw, iHF wha # &l ¥ qhafi 11, ag # Wi e ¥ SeR ¥ wEn
X R FrafaRaa st | = Fifve
4, magamaﬁwﬁﬁqﬁaﬁam . 1. MgO #1 & 0l &ar 2|
2 2. U8 Tgq AT 1 T I} R
I A A WY T TR 3. O SR T I o B
(@ 13R3 I § A -8 F qE &7
b) 13%4 , : (@) Faa 1 3R 2
o (b) Fad 1 3R 3
(c) 23R 3 - ) 2 o s
(d) 23R4 @ 1,233

8. 100 W & T g oew &1 R7 & 10 & 12. 19 & & afifen % d@ey § FH-8 P9

YA & WS 2 qed g 3 R A e 44
e dgd & R mw@ Rl Ca0(s) + Hy0() - Ca (OH), (ag) + I
(192 = 1 kWh) | 1 R w g
(@) 300 fore fopn ST 21
(b) 1-08 - | 2. @ F A F WA dart g |
c) 216 : mﬁﬁmmél
4 033 3. ¥R W CaCO, I Taell Wa &M
“@ fT Ca0 3w # fawmm co, ¥ @y %
5 o e e A R A TR SRR
9. TFHAA @ % Gy | . N &
ﬁwﬁm%f;q%n-mm%mﬁa@aw j:‘”’[’"fﬁ mg'a‘“mw's’
forefia 21
. 1= fow T Fe F M R ¥ W g
, fa) 35 (a) Fad 1 3R 4
(b) I6H ot forgmq b 234
(c) 3u% gR1 7 6 7 g () 2%3
(d) Iuh shaa = (@ 1,334
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7. CO“Sider t

e fon N
¢ Micry N OW"‘R

a mob; One St‘“(‘m(‘ms about
Obile Phone '® Speaker of

The micmp o

Ne Co .
/ N mechanical signall“re”s sound tq
N '

\

3.

The Speak
ﬂl\el’ CoOnNv,
/ signal 1o SOundmerts A Mechanijcg]
4

The Speake

r Convertg .
. a
Signal to Sounq, " Clectrical

\VhICh of the s

teme i
Correct? nts given above are

(@ 1 ang 3

umed by the
bulb in 3 days? (1 unit = 1 kWh)
s (@) 3-00
(b) 1-08
(c) 216
(d) 0-33

9. The area under the velocity-time graph
for a particle moving in a straight line
with uniform acceleration gives

(a) its average velocity
~ (b) its net displacement
(c) the distance travelled by it

(d) its average speed
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10. The power of a lens of focal length
10 em is

t(a) 0 dioptre

(b) 1 dioptre

(c) 10 dioptre

(d) 100 dioptre

11, Consider the

following  statements
regarding burnij

ng of magnesium ribbon

in air :

1. White powder of MgO is formed.

2. 1t is an example of combustion
reaction,

3.

Heat and light are produced,

Which of the statements
correct?

(@ 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
«(d) 1,2 and 3

given above are

Wing statements with

on given below are
correct?

CaO(s) + H,0() » Ca(OR) 2 [@Q) + Heat

1. Quicklime is used for
washing of walls.

The solution of slaked lime is used
for whitewashing of walls.

white-

3. CaO reacts slowly with CO, in

air to form a thin layer of CaCoO,
on walls,

4. Calcium hydroxide called ‘slaked
lime’ is an inorganic compound.

Select the correct answer using the code
given below.

(@ 1 and 4 only
(b) 2 and 4

(c) 2 and 3

(d) 1,3 and 4

[P.T.0.



13. ST W AL AR Y9 F AR (heating)
ey ¥ Aafifea 1 @ ¥9-8 o wd 'Y

1. NO & U Y¥ (fume) Raaa R)
2. W 0, Na fwad R
3. IR el afwfEn 1 uw IgEw R

4. W NO, M ¥ IR ¥ fog ww Fe
QY (thermal decomposition) bl
TH IR R

N Ry R w1 W W ad IR ghe)
@ 13R2

() 2,33R4

() 1,33R4

(d) Fad 2 iR 4

14. fafafaa & 4 F-@ i sfifen T
?7

(@) e @SN A
(b) WIEl dd @ieH]
(c) fagamifum (Rancidity)

(d) @eA
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15.%%@11@%

(clues) T fr=m Hifv . ™ 3, ﬁqﬁ-ﬁa ’

PGS I e

2. FHH A F B: H Y g
' (division) & ‘i%:c

s Sy,

ﬁqmvﬁwﬁ%mﬂnmm,ﬁ
EAIE L

(@) 3Nfsm, 3y woW, Fies, =m
(b) SAATR, Y W, FAlH, 19T

(o) 3NfE, Ay W, e, WA

(d) BSHETG, AY YN, FAIeH, TG

17.wamﬁﬁaamﬁamﬁm

e shell, Ta:, drwes, IO
Wg%wzﬁvhwﬁm%mnwﬁw
A} o vt & wmor fe?

(@) WRTR, o, e, S
(b) W, Nerera, sy W, A
(c) TosiRm, sram, I, afes
(d) Frivm, sram, srig wew, aES



13. Which of the following statements with

regard to heating of lead nitrate powder
over a flame are correct?

1. Brown fumes of NO are released.
2. Colourless O, gas is released.

3. It is an example of oxidation
reaction.

4. It is an example of thermal
decomposition used for the
production of NO, gas.

Select the correct answer using the code
given below. ’

(@ 1 and 2
(b) 2, 3 and 4
(c) 1, 3 and 4

(d) 2 and 4 only

14. Which one of the following is not an
oxidation reaction?

(a) Rusting of iron
(b) Opening of soda bottle
(c) Rancidity

(d) Combustion
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ing ues a
win
15 consider the- ft.)llo .
‘ State of India - ; L e o i
1 It is known as )
" plue hills’. — - e )
' il dia
ntains e R
8 Ithy;:ict,agraphic divisions o e
I 39 perc
pout 2
It covers 2 pe
N total areas of the country e
ate on the basis

Identify the St
given clues.

o (@) Karnataka
(b) Andhra Pradesh

(c) Assam
(@) Chhattisgarh

16. Which of the following sets of States
shares boundary with Telangana?
fa) Odisha, Andhra Pradesh,
Karnataka, Maharashtra

@ Chhattisgarh, Andhra Pradesh,
Karnataka, Madhya Pradesh

(o)~ Odisha, Andhra Pradesh,
Karnataka, Madhya Pradesh

(d) Chhattisgarh, Andhra Pradesh,
Karnataka, Maharashtra

17. Rani told her friends that last year she
did boating in four different lakes,
namely, Loktak, Barapani, Kolleru and
Pulicat. Which of the following States
did she visit?

e (@) Manipur, Meghalaya, Kerala
Tamil Nadu ’
(b) Manipur Meghala
5 yva, An
Pradesh, Tamil Nadu dhra
(c) Mizoram Assa
’ m,
Tamil Nadu Sl
(d) Mizoram, Assam, Andhra Pradesh

Tamil Nadu

[P.T.O.




18. 2011 H O & FER, f=fafaa § @
- /A oA @ R/

1. Y =, S Fae 9w} frg fra
T8 webl, 9 WaR T R

A fll ot e ) e g vg ik
fr@ A1 gehar B, B WER 7 ST R

13 fog g e 1 A AR @ I gf
(a) F 1

(b) FT 2

(¢ 13K 23

@ FM 1RG22

19. WA % HA9: Tohee 7 o oemg Tl H Y

B Foh-aT ToR 87
(@ 13R7
(b) 23R 6
) 235
(d) 35

20. fifafaa § & H-0 By ERAR B ¥k
o w27

@ wm R e g, ST A e
.

(b) wvg win # it 9fg
(c) FR-9f & %h
(d) ST F1 Tsqe
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21.%*&%#-@%%&@@
Wﬂ%ﬁﬁmwﬁaﬂzﬁm

PAEEY T Hftrpe (appreciation
currency) B 27

(a) %wmmmammm
(b) Wmmmm

(c) wwmmm
W Ay ‘

CORE S I T S —
T iy ‘

22, mmmﬁw%mﬁsﬂﬁmmﬁ
HET B 1 73 £7

(@) (Rsft faw %) afeim (Crowding

out)

(b) (Fsh 53w #71) siei (Crowding in)
(c) fam QM I (Pump priming)
(d) =T (Dumping)

23. Fefafas & 9 HE-T/AA-R, i s
/% 1Y /87

1. TEl/de Tsa- 8t R et v e

2. TEA 3R U= "R W Pl w1 s

3. el @ dmfafy At v s
e fesga e

R REE TR B R U o

(@ ¥Fa@ 1 iR 2

(b) Fad 2 3K 3

) 1,23N3

(d) a3



: , icies help
18. According to the Census 2011, which of 21. Which of the following Policies

\ iguously
the following statements is/are correct? to raise interest rate unaml?;gtli':) g
to appreci
1. A person who can only read but and thereby lead P
cannot write, is not literate. currency? ary
i cal and mone
2. A person aged seven years and (a) Ex?an51onary fis
above, who can both read and policy
write with understanding in any (b) Contractionary fiscal and monetary
language is treated as literate. policy
; i d
Select the correct answer using the code (c) Contractionary fiscal policy an

given below. expansionary monetary policy
(d) Contractionary monetary policy

(@) 1 only and expansionary fiscal policy

®) 2 on}y 22. The contraction of private investment
(c) Both 1 and 2 spending due to deficit spending by the

Government is called
(d) Neither 1 nor 2 (a) crowding out

(b) crowding in
19. The Tropic of Cancer passes through how (¢) pump primin
many coastal and landlocked States pump p &

of India, respectively? (d) dumping

(@) 1 and 7 23. Which among the following is/are the
_ . - 5
(b)) 2 and 6 objective /objectives of the NITI Aayog:
‘ 1. Imposing policies on the
(c) 2 and 5 States/UTs
() 3 and 5 2. Allocation of funds at National and
State levels
' _ ] ) 3. Design strategies and long-term
20. Which on-e of t‘he following situations can policies and programme frame.
lead to inflation?

works
« (a) Rapid growth of aggregate demand

Select the correct answer using the code
outweighing supply

given below.

(b) Sluggish growth of aggregate (@ 1 and 2 only
d

deman (b) 2 and 3 only

(c) Reduction in the money supply (c) 1, 2 and 3

(d) Higher levels of unemployment ® (d) 3 only

JNBY-D-GNL/59A 9 [ P.T.O.



24, Wfya g aafy & anur W mifts wfa =afh

I S (MPCE) % ool & rhiaft & wfteher
) Refe fvas gra A w§ of?

(@) whSTETn W
(b) g
(c) TR afify
(d) 3 |ty

25. Tefofan d /@ FF-w/39-3, W Fw

fowm fem (NSDM) #1/% 39-38w B/37

1. G e

2. |YFIRE TR

3. UENMHE NUNE &A1 F1 @M I
(leveraging)

Ha fog e g2 = W R T s g

(@) a1

(b) a2

€ 1,23R3

(d) a2 3R 3

26. POSHAN M #l $MEif<q &4 & forg

frafafaa 7 & FR-@ FRAf/FEARET

TS TS 2 /27
1. W@ F@ ggEh % R sim-dm

e (inter-sectoral convergence)

2. Afeana 3R = 6 aRafas @99 (real
time) ¥ Jfg A AHR FA F fou
Wenfiel (ICT) &1 94

2 few e e 1 A W wd 3w g

(a) Fad 1

(b) Fad 2

(c) 1 ¥R 23

(d Ad1AE 2
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27. 9@ H IAN-AW (writ of certiorari) rf

w1 & forg Frafafaa & 4 -4 o /o
sfard #/27

1. Y afom o Y afEd @
foras g yoeE AR B anf
FA 9 FH H Fuio w3 w1 fafis
TR 8 R AR ' F FE w7 5
Fa A

2. W it I At 3 aftEia %
forn &l fop R

= g ¢ 2 w1 A =W W gh
(a) Faa 1

(b) FaA 2

() 1R 23

(d Ad1RTE2

28. ¥ ¥ 9Rd % T ger =mmfd 3wl

e’ W { oy s w1 T w@ W
e femm am?

(@) =R TEo Telo aY

(b) A ho o TTATHVR
(c) ~mfd 3o THo wn
(d) = Ao Fo WRETA

29. T @ 7 a7 [Edh H AGF B 27

(@) T fagrd <
(b) IR HEER
(c) T 3EH 3T

(d) TSN R



24. The computation of
of Monthly Pper
Expenditure (MPC
Reference Period
by the

poverty in terms
Capita Consumption
E) based on the Mixed

was recommended

# (@) Lakdawala Committee
Q}@ Tendulkar Committee
(¢) Dandekar Committee

(d) Alagh Committee

25. Which of the following is/are the sub-
mission/sub-missions of the National
Skill Development Mission (NSDM)?

1. Institutional training
2.  Overseas employment
3. Leveraging of public infrastructure -

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) 1,2 and 3

(d) 2 and 3 only

26. Which of the following strategies is/are
adopted for implementing the POSHAN
Abhiyaan?

1. Inter-sectoral convergence for
better service delivery

2. Use of technology (ICT) for real-time
growth monitoring of women and
children

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

JNBY-D-GNL/59A

/are

27. Which of the following conditions ISt of

. wrl
necessary for the issue of 2
certiorari in India?

1. There should be a tribunal or an
officer having legal authority t0
determine  questions affecting
rights of subjects and having 2 duty
to act judicially.

2. Such tribunal or officer has acted
without jurisdiction.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

«(d) Neither 1 nor 2

28. Who among the following Chief Justices
of India ordered the constitution of
a Special Bench called ‘Social Justice
Bench’ ?

(a) Justice H. L. Dattu
(b) Justice K. G. Balakrishnan
(c) Justice R. M. Lodha
(d) Justice Y. K. Sabharwal
29. Who among the following is the author

of the book, Bandi Jivan ?
(a) Rash Behari Bose

e (b) Veer Savarkar
(¢) Aruna Asaf Ali

(d) Sachindranath Sanyal

[P.T.O.



30. 1937 ¥ F I A, R W g

et § @ 2 D T H v
a1 Wil (single largest party) ¥ wq ¥
ar TE A ofi?

(b) W IR URERR H wig
(c) USTE IR rEH

(d) 3 IR A

31. ﬁ%@amﬁwﬁwﬁﬁq:

32.

mﬁamwwm%m@méﬁ
Cikl

1. Ve e A R R wwd g SR E Y
IS wE § A B ol 6

2. sﬁ@ﬁﬁm%ﬁm@t@qﬁww
ELIE

T FA A P/ ER-D v
(@) Fad 1

(b) Fad 2

(c) 1 323

(d AM13AAH2

i ¥ fafim w0 @ e T frefaiea

i # A A-w g wd g T A
(@) @O F GER TG W R
() Trm e R w9 s
(c) Sar : it 6 g § smen
(@) TR forE R 3qrEn § e
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33. e v frEEm wh ¥ am g

freiferfiaa 3 & - 2 et 7z 7
(@) ¥a1 3N et

(b) WEE 3R e

(c) T 3R Aem

(d) Fom AR gz

34.ﬁw%ri‘@aﬁéaﬁ3ﬁﬁmm(dua1

control structure) STel THAT 13 7
HH-T1 37

(@) F5 ford gferm 7

(b) TEH UgHH

(c) ¥Ra-fosaq Him giem

(d) 5 i g ww

35. ﬁmﬁ%mmmm(mmic

community) -9 87
(a) &
(b) Te
(c) 3w
(d) 3nfe

36. fr=faftad ¥ ¥ fvw 2n € e I =1 9w

NGH (Chevrons) ¥7?
(@) e

(b) 3 fawctew

(c) TS

(d) Torarsa



30. In the election held in 1937, in which
two provinces was the Indian National
Congress not able to emerge as the
single largest party?

(@) Punjab and Sind
Zv(b)

Assam and North-West Frontier
Province

(c) Punjab and Assam

(d) Assam and Madras

31. Consider the following statements :

After forming the Indian National Army,
Subhas Chandra Bose

1. recruited a large number of soldiers
from the Indian Prisoners of War
in Japanese camp

2. introduced a women’s detachment
named after the Rani of Jhansi

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only

e(c) Both 1 and 2
(d) Neither 1 nor 2

32. Which one of the following pairs denoting
various forms of ‘Bhakti’ is not correctly

matched?

(a) Saguna : Belief in Gods with
attributes

(b) Nirguna : Belief in Gods without
attributes

(c) Alvars - Believed in devotion of
Shakti

(d) Nayanars : Believed in devotion of
Shiva

JNBY-D-GNL/59A
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33. Which two rivers flow in the reg"ia
between Gulbarga and Vijayanag?
Hampi?

(a) Narmada and Godavari
e (b) Mahanadi and Godavari
(c) Kaveri and Periyar

(d) Krishna and Tungabhadra

Which of the following is the only
paramilitary force with a dual control
structure?

34.

(a) Central Reserve Police Force
o (b) Assam Rifles
(c) Indo-Tibetan Border Police

(d) Central Industrial Security Force

Which one of the following is an ethnic
community of Assam?

35.

(a) Bhil
(b) Gond
e (c) Ahom

(d) Adi
36. The Chevrons is the name of the cricket

team of which one of the following
countries?

(a) Australia

(b) The Netherlands
(¢) lreland
Zimbabwe

e (d)

[ P.T.O.



37. FffRE A ane e el B owa F Pefafea 3
RRER R IE R R SR v
(@) FTN TH IH
(b) AR U TEA KA
(c) HIES A TE I
(@) TN T IR

38. ¥ A IN, T 2022 F Wi fagm # A9
TR FT TTHHd! TE 87
(a) TH TR
(b) S Tho FASK
(c) ESIR SR
(d) @R ffar

39. ¥ iR 2@ igfe % fore wiftmt & wftred <
(reflex arc) fawfa T & Frafafea & @
FR-H AgHA, Wdad 99 B GAR € A
el = 87

(@) T — Had) = — Hersy # Rl =
— iR — I T — FHHR

(b) TTEl — Hedl A — A — Ay
7 fret = — W =R — wER

(c) T — T <A — Fere] # R A

— FAd A — R
(d) TE — W YT — wfess — gadi
2 — FHHR

s0. i@ W ¥ dwiEe i % f
fafefaa @ @ #-w sfad 27
(a) NaCl
(b) KCI
(c) HARLLA
(d) AEER

JNBY-D-GNL/59A
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41. F7efa Fifrmet § RNA el faemm 2 27
(a) FIA BIHEA
(b) e Fesdh AR BRFEA

(c) He5eh, HINHEA, GHOF, Flders
3R Az SferR

(d) 5, FINTHEA, GHOF, aaaF
' 3R e

42, 99 ¥, 3dawMl fINNF  (intercalary
meristem) UHIIG: Fal W 4 g1 87

(a) HH
(b) % Td
(c) T
(d) Wig-3m

43. Nl § §a@ % FAgdl Ieq & Y THEH &
YHR H WY Fas dar ¢ Frefefaa § @
HH-H TEAH Sk Sfad HREed ¥ s
A &7

(@) @R (Tracheid)
(b) e (Vessel)
(c) NECH Pgdsh (Xylem parenchyma)

(d) g HIgsH (Xylem fibre)



4

37. Cheetahs, brought from Namibia, were
introduced in India to which one of
the following National Parks?

(a)
(b)
(c)
¢(d)

38. Who among the following is

Kaziranga National Park
Keoladeo Ghana National Park
Keibul Lamjao National Park

Kuno National Park

not a

recipient of the Nobel Prize in Physics
in 20227

(@)
(b)
(c)
(d)

Alain Aspect
John F. Clauser
Klaus Hasselmann

Anton Zeilinger

39. Reflex arcs are evolved in animals for
quick and efficient responses. Which
one of the following sequences correctly
represents a reflex arc?

(@)

(b)

(c)

(d)

Receptor—Sensory neuron—Relay
neuron in spinal cord—Brain—
Motor neuron—Effector

Receptor—Sensory neuron—Brain
—Relay neuron in spinal cord
—Motor neuron—Effector

Receptor—Motor neuron—Relay
neuron in spinal cord—Sensory
neuron—Effector

Receptor—Motor neuron—Brain

—Sensory neuron—Effector

40. Which one of the following is essential
for thyroid gland to make thyroxin?

(@)
(b)
(c)
o (d)

NaCl
KCl
Cholesterol

JIodine

JNBY-D-GNL/59A
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41.

42.

43.

In plant cells, RNA is present in

(@)

(b)

(c)

(d)

cytoplasm only

nuclei and cytoplasm only

nuclei, cytoplasm, mitochondrl?fl,
chloroplast and endoplasmicC
reticulum

nuclei, cytoplasm, mitochondria,

chloroplast and ribosomes

In grasses, intercalary meristem is
usually located at

(@)

(b)

(c).

(d)

root tip

lateral sides of stem

base of leaves

shoot tip

Xylem is a type of complex tissue in
plants for upward conduction of water.
Which one of the following xylem tissues
consists of living cells?

(@)

(b)

(c)

(d)

Tracheid

Vessel
Xylem parenchyma

Xylem fibre

[ P.T.O.



44. 11 Q 22 Q 3R 33 Q Ny I o=
sfius wd w R R e gen wh
fra® sU R7

(@ 66 Q
) 22 Q
© 12Q
d 69Q

45. Wi WY Fgg-emfl § o fgew @
(red live wire) 3 Y TN TR (black
neutral wire) F N rms. fyEw
(potential difference) foraan gra1 &7

(@ 160 V
(b) 220 V
(c) 300V
(d 410 V

46. TEgeA w9 3R PEW 9w wEw: A W
afTia € #7

(a) i HeEA 3R fa@sA
(b) Ta@ea iR AR S
(c) i foeea i e
(@) SaTdE qoEa 3R fawsa

47. A v yFm
(a) a7 H FH: sT3eed 3R e Bt 8
(b) =13 FAY: TPy 3R e Al &
(c) a7 # M e At &
(d) a7 H A s wd #

JNBY-D-GNL/59A 16
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48. 12 m/s $ = A T W @ F FF 35
AR W IFH T F 6 m/s? F HEA B B
AF M F 18 R T4 & T 2 s F Ty
AN B| W @A F AR FR FA T A gh
o R?
(@ 12 m
(b) 24 m
(c) 36 m
(d 48 m

49, - YHR & ARWEE w1 TEEAE
Hoed 41 27
(a) |ifETm TEGRA wEHe iR TR
TEA H1 OA

(b) WIfETH FEHe MR TR A H
LI

(c) e SRAFERE IR GeRRF 30 F
oIS

(d) \fean FTREE IR FoR|F T &
LIS

50. Fr=fefea sl w fmm Sifs

Hifsd ATEesH 3 % =i 1 TR BA qHE
1. [Hz0"] AT % g0 /AT (volume) H
Fhg et ®

2. wifka swa # W ¥R-+R framn =nfeg
3. < s dit-oi fremn =t
It § ¥ HA-H1/FH-T A |/ /77
(@ 1,233

(b) FaA 1 3R 2

(c) Fad 3

(d) Fad 2 3R 3



44. Three Tesistorg

k Sistan.
;:‘:h_:ﬁmﬁial conn:t;dcsi, 1 Q.Q :
ent Tesistay, 1 62?1::"1
(@ 66 g e
(b) 22 o
© 12 g
*d 69

45. The r.m.s. Potentiq) d

the red live Wire and

ifference b
in Indian do

black neyt
mestjc ele

etween

: ral wire
ctric supply s
(@) 160 Vv

vb) 220 v
(c) 300 v

(d 410 v

* (@) nuclear fusion ang fission
(b) fission and thermonuclear fusion
(c) geothermal fission and fusion

(d) geothermal fusion and fission

47. Sound and light waves are

(a) respectively

longitudinal and
transverse in air
s (b) respectively transverse and
longitudinal in air
(c) both longitudinal in air
(d) both transverse in air
17
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8. A “Ar Moving with

a speed of 12 m/s
18 Subjected tq bra

kes which produces
- dCCCIeration of 6 m/sQ. The car takes
28 1o stop after the application of
brakes, What is the distance covered

by the cqr after the application of
brakeg?

‘(A 12
(b) 24
() 36 m
(d) 48

49. What is the chemical composition of
a soda-aciq type fire extinguisher?
(a) Solution of

sodium hydrogen
carbonate ang

sulfuric acid
(b) Solution of sodiu

m carbonate and
sulfuric acid

(c) Solution of carbo

n  dioxide and
sulfuric aciq

(d) Solution of sodium

chloride and
sulfuric acig

50. Consider the following Statements :

While diluting conce
solution

1.

ntrated nitric acid

the concentration of [H;0%) ions/
volume increases

water must be added slow

ly to
concentrated acid

3. acid must be added slowly to water

Which of the statements

given above
is/are correct?

(@ 1, 2 and 3
(b) 1 and 2 only
«(c) 3 only

(d) 2 and 3 only

[P.T.0.



51. Ry wel & 0 pH 1 wd s Refifag
Y- R

(@) TR < W < frew aiiw e <

Th

) B o Wl < W < F0 < Ay
™

(c) ﬁi\ﬂ‘@<ﬁ<ﬁ‘ﬁ<ﬁ!ﬁﬁm
ehftrn

(d) 4 F W@ < FH < T < s attw
AhfRmn

52. W€ Ui % e frefifad § Q29—
EHE TR

(a) T= TFMAFEm = qEro SRR s R

(b) YqhfEm, zfam o Fifiem S
a1 T fha s wha 21

) T UTghfam wd e ik
e T Feire W I B B

(d) T& AR UM { WY B g

53. TR fid Fefl SOl (yellow  sooty
flame) ¥ @Y Seldl 8| $HH FO 3

(a) F1E3 B TTEGISHA F1 3FU F9 Bl B

(b) AYY TEA Al @

(c) AR st smfd e @

(d) AR s gew f sygea faemm
et 2

JNBY-D-GNL/59A

18

54. Fe,0, % Ygfufem % wy sfulrn F foo
ffafiga # & P13 Fom e &7

1. 48 ‘yuige stfifrn’ % wv § 7 2

2. IF I H gAm Afeen-yaeE F foro
fopn e R

3. Ughifam wrg sifwfiFmn F9% ¥ =9 &
w14 e R

4. afufEm f Tl W TRE Fe 3 Al
T B

I few M g2 = weim = I g
(@ 13R2
(b) 133
€ 23R4

(d 134

55. fadht 3 o fidl W € @ (Stewart

Island), I’ <A (Bay of Plenty) 3R

e (Hawke Bay)aimﬁaﬁﬁml
Tl A Forw X 1 o fopan?

(a) HATS]
(b) FRfern
(c) qicte

(d) A



1
'!_
;

§1. Which one of the following is the correct
order of pH for the given substances?

(@) Coffee < Lemon juice < Milk of
magnesia < Blood

(b) Milk of magnesia < Blood < Coffee
< Lemon juice

‘(c) Lemon juice < Blood < Coffee < Milk
of magnesia

(d) Lemon juice < Coffee < Blood < Milk
of magnesia

52. Which one of the following is not true
for anodizing process?

(@) It makes
resistant.

aluminium corrosion

(b) Metals like aluminium, titanium
and magnesium can be anodized.

«(c) Clean aluminium article is the
anode and oxygen gas is evolved at

the cathode.
(d) It is used in aircraft industry.
53. Naphthalene burns with a yellow sooty
flame. This is because
(@) carbon to hydrogen ratio is low
(b) there is incomplete combustion
(¢) there is excess supply of air

8(d) of presence of
nitrogen and sulfur

impurities of

INBYD_GNL/50A
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54. Which of the following

ts at'e
temern :
sta wi

f FeyO3

i o
true for the reaction
aluminium?

1. It is known as
reaction’.
i d for
2. The heat evolved is Uuse€

welding purpose.

an
3. Aluminium metal acts 2as

oxidizing agent.
4. Molten Fe. and Al are formed at the

end of the reaction.

Select the correct answer using the code
given below.

(@ 1 and 2
() 1 and 3
(c) 2 and 4
(d 1 and 4

5§5. Vicky told his friends about his visit

to Stewart Island
Hawke Bay. Whi
visit?

» Bay of Plenty ang
ch country diq Vicky

(@) Canada
(b) Australia

() New Zealang

(d) Ireland

I PRO.



56. Wia Rl A wh Pen Rw fws el w@ 59. -1 A g1 % @ gifera A 3

WL T ) AN @R TR W gfdl % 4= f g2 w1 owEm W wE T
ELE
(@) W& fHa, $g= WaR, s vt
-1 -
() & e, R e, Fga fawm (Rerm) (7rr@)
A. fag ardfy feam 1. 29 o
(c) w fober, Fga R, T 1w B. siadia e R 5 oyt
(@) e fohen, g 1 weharw, SR e C. fam v@ feam 3. 2w
D. siqgm wig yedft femm 4. 22tné__
. @
57. 3R FS vfam A @ A 3w s R, /@ m @
+ W W R wed =1 98 w7 e (@) ‘; g ? 123

(@) TATRS, FEL, HITAYY, F&A1

) A B C D
3 1 4 2

b) AR, FAR, eI, TITAR
® ) A B C D
2 1 4 3

(c) TR, TR, WIAR, G
d A B C D
(d) FAR, TR, G, TITAR 2 4 1 3

60. s wem W o 2020-2021 ¥ faw
58. Trafafaa & 4 fra Tsg =1 sm—<fim fean &

TERE ver Avfiew gEeww (PG 3,
waifus faen 27 frefelaa § ¥ fra o /d9 Ts9-09 = wm
¥ gfa & it =t 7
(a) | KCC S
(@) A
(b) T (b) TS
(c) wnfem () THw e & g
(d) T (@) <dmg

JNBY-D-GNL/59A 20
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56. Manav is planning to visit a1 UNESCO
world Heritage Sites in Delhi. He will be
visiting

(a) Red Fort, Qutab Minar, Jama
Masjid

(b) Red Fort, India Gate, Qutab Minar

e(c) Red Fort, Qutab Minar, Humayun
Tomb
(d) Red Fort, Humayun Tomb, India

Gate

57. What will be the correct sequence of
cities on the bank of river Ganga if
someone moves from west to east?

(a) Prayagraj, Kanpur, Bhagalpur,
Patna

(b) Prayagraj, Kanpur, Patna,
Bhagalpur

(c) Kanpur, Prayagraj, Bhagalpur,
Patna

» (d) Kanpur, Prayagraj, Patna,
Bhagalpur

58. Which one among the following States
has the longest extension in north-

south direction?
(@) Jharkhand
(b) Telangana
(¢c) Odisha

¢(d) Chhattisgarh

JNBY—-D—GNL/ 59A
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i ist= jven
59. Match List—I with LI.S e code B
. correct answer using
below the Lists !
List—1I
List—1 (Datel
(Day)
1. 29 July
A. World Wetlands Day l
i n. 22 Apri
B. International Tiger Day'
3 3. 2 February
C. World Water Day \
J h
22 Marc
D. International Mother 4.
Earth Day
Code :
s (a) A B C D
3 4 1 2
(b) A B C D
(C) A B C D

60. Which one of the following States/UTs
is not among the top five

in the
Performance Grading Index (PG,
published by the Ministry of Education
for the year 2020-2021?
(@) Kerala
*(b) Punjab
(¢) NCT of Delhi
(d) Chandigarh
[ PT.O.
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61. fafafaa sl w foem v it sfiRsd |
q%mﬁ‘m:

3 9% fken ifRft, Adwrs i fufar & o
PN WRdlg wEhg AT §1 1992 § 37
vl YOER ¥ fHar sk af 1998 @
% af 2001 a% IER FHT fbow yAE
91 & oreer & ®Y § F7f 1) wmedlg RAm
ﬁm%wawﬁwwa?avaﬁm#é@ﬁg
3% NAfda qra1 WIew wied gRER @ gt
faar )

(@) SIS
(b) & EHH
(c) e o=

(d) T UG

62. UN 2023 ¥ THeH &l AESH-8
(venue) Fr=fafad & | -a1 77

(@) aTRETEA, So Ho
(b) I
(c) & Tewi

(@) 7§

JNBY-D-GNL/59A 22

63. ffafad # § F9-81/F9-7 0 w8 /3

1. et o s @ ozm oo &
(Tomb of Sand) Hﬂﬁg‘h I T
e arefl g ¥4 8 R IRl s
foreht 7 geehl gw 2|

2. 2/ aF ds, B A wRd we

M 2 8 S g9 T R
oo )

1 faw 710 Fe 1 wE W FE IW )
(a) Fad 1

(b) HaA 2

(c) 13N 232H

(d Ad13MmTH2

64. TS WE AWM F A4 G, & B

faosfm  d=-9-8=3 w=wm@  (bilateral
military-to-military exercise) 8, 31+l &
A 8 wRa o Frefafaa 3§ @ fre 29 ¥ e
Fat % o= fora w7

(@) STIH
(b) SERfIET

(¢ ¥H
(d) TR

65. GIEHIR Aka & foe wsr g Fre=fafad | §

fora 3am =61 v T s as@ #7
(@) &, I ST W ASHE d F@HI

(b) TRfe = afts TR (subsidy) T&F
FEA

() “¥d 3N FEY S W W X | 3G
Exc)|

(d) i T Ty ogua (CRR) ¥ Fit
FE



61. Consider the followin

identify the actress 'g Statements and

She is a ren

0

wned film actress, director
and producer,

Indian classicala nc:ia::er_aCC;:: fehed
conferred the Padma Shyi in 1992 L::;
has s.erved as the Head of Central Board
for Film Certification Jrom 1998 to 2001
In recognition to her exemplary hfetime;
contribution to Indian Cinema, she
was honoured with the prestigious

Dadasaheb Phalke Award.

(a) Vyjayanthimala
(bp) Waheeda Rehman
(c) Mala Sinha

(d) Asha Parekh

62. Which one of the following is the venue

of the UN 2023 Water Conference?
(a) Washington, DC

(b) New York

(c) San Diego

(d) New Delhi

JNBY-D-GNL/59A

23

-
63. Which of the following statements is/

correct?

. Tomb of Sand, written by

Shree, is the first book .
written in any Indian language t©

win the International Booker Prize-

first novel
to be given
r Prize.

Geetanjali
origiﬂally

2. Tomb of Sand is the
translated from Hindi
the International Booke

Select the correct answer using the code

given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

64. The eighth edition of the Exercise Garuda

Shakti, a bilateral military-to-military

exercise, was conducted recently

between the special forces of India and
o (@) Japan
(b) Indonesia
(c) Bhutan
(d) Myanmar
65. Which one of the following is a measure

that can be used by the Government
for combatting inflation?

(a) Increasing the non-planned
expenditure on defence, police, etc.

(b) Providing more subsidies on
exports

(c) Increasing the rate of interest on
savings and fixed deposits

¢ (d) Reduction in the cash reserve
ratio (CRR)

[ P.T.O.



66. WM Hivd TR N Hiveh e /) F1 wgq 37

(@) R (Deflation)
(b) mﬂﬁﬁﬂ?ﬁ (Stagflation)

(¢) ATEIF (Devaluation)

(d) W& (Recession)

67. T¥N wg-mwEw T T@HE  (MPI) H
ﬁwﬁﬁaﬁ%aﬁq—mémm%?

(@) e Toen & o
(b) WERAT R
(c) AT Grfer

(d) wfa =afe am

68. WEIfEh stom fadi 3eardt ) win & whad) &
FR TR AT AT Y 0 FE £

(@) EIER ST
(b) HTEATHS ST
(c) G ST

(d) T=33 a0

JNBY-D-GNL/59A 24

69. frefafiad o ¥ F-a1/3R-4, TUAER WRey

U A1 (PMSSY) /% 329 B/87

1. g @R d@ara danet B 3Tdey
H afta sriger! F g

2. % @R Banadt o wderdt e
ot wmdsim vga wam e

3. °w A EEm e fa ¥ f
glawnat 1 gfyg wen

A e e 2 1 v I g
(@) Fad 1 33

(b) *ad 2 3 3

(c) Fa& 1

(d 1,233

70. T @ frm TR Y Y Tl e &

T H IR T SR 9w sk a9
HIH T T T TR 1 g e en?

(@) TGIATE e
(b) <o sfio IRo raTH
(c) To Fo Tifefy

(d) VTR T



66. The sustained decreasg
price level is called g

s
(a) deflation
(b) stagflation

(c) devaluation

¢(d) recession

67. Which one of the following indicators

is included in the

Multidimensional Poverty Index (MPI)?

(a) Years of schooling
(b) Literacy rate
(c) Life expectancy

(d) Per capita income

68. The unemployment that occurs due to
changes in the technology or in the
demand for particular products is called

« (@) frictional unemployment
(b) structural unemployment
(c) cyclical unemployment

(d) disguised unemployment

JNBY-D-GNL/59A
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69. Which of the fo""w'f"gmf/?nradhan
objective /objectives soura[:(sha Yojana

Mantri Swasthya
(PMSSY)?

mbalances n

1. Correcting regional tiary health

the availability of ter
care services

. s to
2. Providing universal  acces

i and
public health gervices
universal immunization

3. Augmenting facilities for quality
medical education in the country

Select the correct answer using the code
given below.

(@) 1 and 3 only
(p) 2 and 3 only
(c) 1 only

(d 1,2 and 3

70. Who among the following political leaders

suggested the dissolution of the Indian
National Congress as a political

organization and its replacement by a
Lok Sevak Sangh?

(a) Vallabhbhai Patel

(b) Dr. B. R. Ambedkar

el(¢) M. K. Gandhi

(d) Jawaharlal Nehru

[ P.T.O.



71.m.ﬁgm@wﬁmﬁmw

(all-woman contin

74. frafefas 4 & fRt wma % dfaum F ofe

gent) H M e aren S % afm W R e § sl

B8 R o W w fw g A HEEHR g, ) T F R
st v ent wer frn ¥, el st S 3
) o argefera A e &7

(a) Wefya T 1 T
(b) qEW

(b) A 1 TEAfe
(e T (c) 3TR-T g
(d) IR

(d) WA Y Goe

72. Fefefea & 3 S9-m, swavam sss =l

75. IW sEfes uiwg §, frafafes § 4 #9-3
e =&t 27

T4 /69 U9 -4 wfedfera &7

(a) TGS, SW W, TR, USE, g
(a) e =TE™ iR Fwi
(b) & ARETH (b) wRET, oS, e R, T
TP T & R
(o) TR I T fe A e ) T W, TG, W, e @
A TSRY

(d) Ty & @ @R H T amwh (R

(d) SWEE, W ¥, e R, =
T /e frmawa

TS ghemm

76. IV THH T Wawld sg@ Hogwon
(notion of kinship) f=fafaa ¥ ¥ fras
e A g §9 Y wiE 37

73. fafafaa & & #FF-w fom /it
Leiceiedebiek i

(a) T fasm (@) A3 | ITH TR (identification)

(b) TTHE FRAW A IR
¢ Treaeda wf

panegyrics)

(d) Tami 3w ‘@W (sculpture)

(b) TSt fasm
(c) T mifver A g i

(inscriptional

(d) <Y, FR st @ i favm
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= Indlz ,sl the first country in the 1d
Rl 3 . wor
- UNpPé\a arll all_—woman contingent to
a cekeeping Mission. In ic
country did this mission operatc“WhICh
r

(a) Liberia
*(b) Sudan

(c) Burundi

(d) Croatia

72. Which one among the following is not
a part of the SWAYAM programme?

(a) Video lectures
% (b) Classroom lectures
(c) Online discussion forum for
clearing doubts
(d) Specially prepared material that
can be downloaded/printed
73. Which one among the following

Departments/Authorities is not under

the Ministry of Home Affairs?

(a) The Department of States

of Official

() The  Department
Language
» (c) The National Authority Chemical
Weapons Convention
(d) The Dcpartmcnt of Jammu,

Kashmir and Ladakh Affairs

J
NBY-D-GNL/59A
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74. Who among the following ::c gFifth
discretionary powers under * ¢ India

titution ©1 77T
ry Councﬂ 1n
Tribes put

Schedule of the Cons
to set up a Tribes Adviso
a State which has gcheduled
not Scheduled Areas?

(@) The Governor of the concerned

State
e (b) The president of India
(c) The Inter-State Council

(d) The Parliament of India

States/UTs ar¢

75. Which of the following
Zonal Council?

included in the Northern
Pradesh,

(a) Uttarakhand, Uttar

Haryana, Punjab, Jammu and
Kashmir

(p) Haryana, Punjab, Himachal
Pradesh, Rajasthan and NCT of
Delhi

(c) Uttar Pradesh, Uttarakhand,
Punjab, Haryana and Rajasthan

(d) Uttarakhand, Uttar Pradesh,
Himachal Pradesh, Punjab and
Haryana

76. The notion of kinship projected by
the Kushana rulers is best evidencea
through which of the following?

(a) Their identification with deities

(b) Grants to religious institutions

(c) Inscriptional panegyrics

(d)

Coins and sculpture

[ P.T.O.
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7. ol e A Rrforfea 3 @ v 90 & w1
S S e

(@) S uftend

) Seud A afs @l (elder nuns)
() gl w2 (status) ¥ dfvd afxemd
(@) ¥ 99/ Fewia afrand

78. WacH A% e A % e wewm Y 1914
3 SRR § ¥ Wiy A e ) o

(@ st T ST
(b) TEY T®
(c) TWo Sfto W
(@ v e

79. Wm-mgaﬁwﬁﬁmaﬁé
e g Y T oAt

(@) @Y
(b) T Efy

(c) FeTa  |weal
Wadgaon)

(d) WreErs |iy

(Convention  of

80. 34 @S (battle) FI W ad13y, Rmed TR
F T A 1741 4 <9 9 wed fen o)

(@) U A1 i AT

(b) FIAEA F) AL

(c) e ) ereré

(d) @G (Changanassery) € @sTs

JNBY-D-GNL/59A

81. Pifafan § 4 fm fige # = A 3y
i arfiafy (overlord) % fiwg A }ﬁ;‘

(@) Ta g
1879-1880

(b) TR f130% (Gudem Uprising), 1836

) T Rz
1922-1924

(d) A e oy (Telangana Armegq
Struggle), 1946-1951

(Rampa Rebellion)

(Rampa Rebelh’om,

82. ﬁq%mﬁFIFAﬁam(gw)mmw
Sfrar 27

(@) FFiET
(b) st
(c) %
(@) ¥

83. ¥ ¥ FN W =m, P wm g
(City of Joy) T W& 2?7

(@) X0 T (Larry Collins)

(b) SiffF AR (Dominique Lapierre)
(c) ¥=aE feruferm (Rudyard Kipling)

(d) W e (Mark Tully)

84. 7 A frd P e e
(Entrepreneurial Vision category) #

I Y wlaw wEEE ¥ 9§ 2022 g
A% 7 3 JEHR (Champions of the
Earth Award) ¥ §af¥a fown mn 27

(@) ¥ W

(b) ¥ <rHI
(c) o ¥t sl
(d) ¥R TR



7. Who among the following were referred
to as the ‘Theris’ in ancient India?

(a) Respected women

(b) Elder nuns in Buddhism

(c) Women denied the Bhikkhuni
status

VQL women expelled from the Buddhist
Sangha

78. Which member of the Servants of India
Society founded the Seva Samiti at

Allahabad in 19147

(@) Shri Ram Bajpai

(b) Hriday Nath Kunzru
(c) S. G. Vaze

(d) Srinivas Shastri

Anglo-Maratha War was

79. The First
one of the

concluded by which
following?

(a) The Treaty of Surat
(b) The Treaty of Purandar

() The Convention of Wadgaon
(d) The Treaty of Salbai
80. Name the battle in which the Travancore
King defeated the Dutch in 1741.
‘ The Battle of Porto Novo

(b) The Battle of Colachel

(c) The Battle of Pollilore

(d) The Battle of Changanassery

N
BY-D-GNL/s9A

wing :
81. In which on€ of the f(()l]’]lo e hiefs
did the Koya and K r; ? erlord from
rise against the loc2
a Mansabdar family?
. 1879’1880
(a) The Ramp2a Rebelliom,
‘9 86
(h) The Gudem Uprising 18
- —~1924
() The Ramp2a Rebellion, 1922
ruggle,
e(d) The Telangana Armed St gg
1946-1951
82. Which country won the FIFA Worlfi Cuop
(Men) for maximuim number of times:
(a) Argentina
(b) Brazil
s (c) France
(d) Spain
83. Who among the following is the author of
the famous novel, City of Joy ?
(a) Larry Collins
() Dominique Lapierre
» (c) Rudyard Kipling
(d) Mark Tully
84. Wbo among the following is honoured
with the UN .Environmcnt Programme’s
2022« Champions of the Earth Award in
the Entrepreneurial Vision category?
e (a) FEla Bhatt

(b) Amit Dasgupta
(¢) Purnima Devi Barman

(d) Vanshika Parmar

[ P.T.O.
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85. A H G20 My N fawa-aw ‘Tgda
I AT gell-v ggra-uh whrer
el A ot }?

(@) HETgIor
(b) HEI-39Fug
(c) FAT

(d) wfa

86. ¥l I& oM WwaR-AN  awm
WRA-AUTe T WY RIS avvmg 1 164t
e feEeg, 2022 ¥ AU i Yoot TR
(Nepal Army Battle School), Hieizidl i
I e T o) 5@ st = AW W
77 '

(@) wifa

(b) T wfE

(c) T& A=Y

(@) femeor

87. Afe WAl M w99 (GMT) # 10:00 a.m. 3,
 90° E I W 1 qHE 87

(a) 5:00 a.m.
(b) 4:00 a.m.
(¢c) 3:00 p.m.

(d) 4:00 p.m.

JNBY-D-GNL/59A
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88. fFreifaflad # A frw Te-T8 1 Nelg 17 (g,
planets) gl S ®, HifF 9 T&T4: &
%, 7@ M i | T &7

(a) W’ Wﬁ’ eﬁ.?f{, W
(b) FewEld, &, T, A

(c) T, WireA, gewfa, v

(d) Fw=g3, wf, Bra, T4

89. TRl 7@ ¥ waw # FrefaRad Rt W
ﬁﬁﬂtﬁﬁm:

1. 3 M a1, e R gf ¥ fm-fin
FgaTat & &+ |

2. § G H URm, SRR o ek
A ATE e § §

3. T WIS W AR NG F YR | AW
AR afiga fora <1 wepan 3

A S fRE@s ¥ ER W wEm wowER
JEaTe |

(@) S (Alluvial)
(b) AT (Laterite)
(c) U (Arid)

(d) Tl (Black)



e the .
= ﬂ\]/asud}:r:'3 . ndia’y G20 p
Earth-One g .utumbak&m‘ CSldchy 88, Wh;
f th amily-QOpe Futy One © Which of the following
rom the re’ i dra I8 termed
wn :
Composed
liquids ang

groups of planets
as ‘gas planets’ as they are
primarily of lighter ices,

(aA) Maha py rang gases?

(b) Maha Upanishad (@) Mars, Jupiter, Neptune, Uranus

(c) Rig Veda e (b)

Jupiter, Uranus, Neptune, Saturn
(d)  Smriti (c) Saturn, Mars, Jupiter, Neptune

(d) Neptune, Saturn, Mars, Uranus

at Nepal 89. Consider the following characteristics of
Battle S ihandi Sy i
attle School, Saljhang; What is the a soil type :
name of this exercige?
1. These soils consist of various
¢ (@ Sampriti

proportions of sand, silt and clay.

(b) Mitra Shakti 2. These soils contain adequate
proportions of potash, phosphoric

() Yudh Abhyas acid and lime.

5 | 3. These soils can be further classified
d) Surya Kira
(d) v ran on the basis of their age.
87. If it is 10:00 a.m. at Greenwich Mean Identify the type of soil on the basis of
Time (GMT), then what will be the time the given characteristics.

at 90° E longitude?

(a) Alluvial

(@) 5:00 a.m.
' « (b) Laterite
(b) 4:00 a.m.
(c) Arid
(¢c) 3:00 p.m.
(d) Black
e(d) 4:00 p.m.
P.T.0.
31 [P,
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90. N '%llEiIMWﬁW(WBﬂIﬁ féu m
T W R W 3w g

1 Mmﬁ%ﬂéﬁﬁﬁa,mm
mﬁ“ﬁéuﬁmwm
mm%{%mamm%,

(@ FH 1ER R g R 2 vl 7@ 2
(b) T 2 W R g o 1w R

() 3 T T ¥ o wom 2, T 1
T H B

(d) I T T E g P 2, T 1 6
AT & e &

91. fay 7 Ifem =1 forear =l o 27

() @@, w9 IR wwi, Ruee W,
LEIC] :

(b) <Er@, W 3R FIR, qeTE, wiEmn

(c) <Er@, 97 it wefi, qeme, efamn,
TR

(d) @@, 7 s Fweir, T v,
g, e, e

JNBY-D-GNL/59A

92, WA & werAEINEA (SGI) F Hay 3
fyeferfiaa & FF-T1 o wé T 27

(@) SGI, wChr #1 geA fafu emeam
2l

(b) SGI, on # fidfos fafy afimrd o
2

(c) SGI®l Te TF Fifaanf= 72 3|

(@) "hwea f fgfe @l w0 sar =
e fobe st 2

93. fF=fefan # } frm wfify 3 vsa a1 3 e
& B §?

(@) W o wify
(b) TTHH ITHA-Gasdt wify
(c) VremeH afify

(d) ¥rRfE it o srggfm s 3
Fegm-ge iy

94. WA % TgHfd & fratem ¥ wau § fefias &
B BH-H1 HuH T T 27

(@) *E ¥R W, gl faita W W
I A& ')

(b) TgEfa F et dwe o T W@
TY-g A faum-awel ¥ feife
e R TR s Ry

(c) Tafew T % fourh wheg ¥ it
T W e R R

(d) Thd T WA gw e
iRt weft o arem frn s 2



r

consider the following statements and
dentify the correct answer using the
code given below : ‘

1. Ina thermal power station, fuels

. L4 =

such as oil, coal or natural gas are
used to generate electricity.

Fuels are burned to heat water and
turn it into steam, which goes
through a turbine, which spins and
turns, generating electricity.

o

Code :

(a) Statement 1 is correct but
statement 2 is not correct

(b) Statement 2 is correct but
statement 1 is not correct

&) Both the statements are
correct and statement 2 explains
statement 1

(d) Both the statements are correct

but statement 2 does not explain
statement 1

91. Indus river basin is extended up to

®(a) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab
(b) Ladakh, Jammu and Kashmir,
Punjab, Haryana
() Ladakh, Jammu and Kashmir,
Punjab, Haryana, Rajasthan
(d) Ladakh, Jammu and Kashmir,

Himachal Pradesh, Punjab,

Haryana, Rajasthan

INBY-D_GNL/59A

ts
) 'cmcn
92. Which one of the fO”OWlncgrﬂ indi2
about the Solicitor Gen
3G i t? g
(SGI) is not correc rnmcnt’s chlef

* (a)

(b)

(c)

(d)

93. Which one of the following ©

does

The SGI is the Gove

legal advisor.

The SGI is the secondary 1
of the country. )
The post of the SGl 12
a constitutional post.
The SGI is appointed y g:z
Appointments committee of
Cabinet.

ommittees

not have members from the

Rajya Sabha?

*(a)
(b)

(c)
(d)

The Public Accounts Committee

The Committee on Public

Undertakings

The Estimates Committee

The Committee on the Welfare of
Scheduled Castes and Scheduled
Tribes

94. Which one of the following statements

about the election of the

President of

India is not correct?

(@)

(b)

(c)

(d)

33

A Union Minister shall not be

eligible  for election as the
President.
The President is elected by the

elected members of the Parliament
and the Legislative Assemblies of
States and Union Territories.

The Electoral does not
include elected members of the
Legislative Councils.

The i

Fhe : of proportional
xcpxc§cntat10n by means of single
transferable vote is followed

College

system

['PYE©).



95. Fmitwal #fUfRam, 1955 vy aria #) 0 3% o8, @il 41 wadi T CE § T TS0 gm

a1 A & et § waf 37 ﬁmﬁ%%ﬁ%ﬁ«mmﬁmﬁ:mwﬁam

(@) 26 980, 1950 %Waﬁwﬁaﬁmﬁ@ WH W
. AT |

(b) 26 99, 1949

(c) 15 3T, 1947 (a) AT (Ennayiram)

(d) 14 T, 1947 (b) IAERR (Uttaramerur)

96. Hfa (NITI) 3mm g1 Riffa Wi wg-emmh (c) Toamem (Siyyamangalam)
T gEHE (MP]) & gar, e wiar
(household) 1 Sfd =T STan B, AR (d) FgEEWETs (Kudumiyamalai)

1. WRAR (household) % T i we=
TEaH 3eq-vifva (undernourished) %

&7 § ) 0 2 : 09, oNEdl YA % WRA % wed H, T
2. 15 94 3R 49 & % 9 i g A (Dastak)’ 41 o017

foreft wfeen wee 1 R F=9H qEE

(body mass index) 185 kg/m?@ (a) TEI&X

FNR

b KSIEE|

4= fr T F= 1 W R " W gFu) LA
(@ ¥4 1 (c) oA Wi
(b) FHad 2

(d) T (textiles) T
(c) 1R 23H

(@ AT 1IARAE2
100. f=fafad # ¥ FR-w, geaa: < WO @

T ?
97. ‘TaEEEN (Rayagajakesari)’ aﬂ! e
TR (Dayagajakesari) H1 IR ST
g @ o T & G, 417 @
(a) FEdT (b) &
(b) e (c) werferenf (ofﬁcials)iﬁw
(c) LELIT
— (d) TS Qe
JNBY-D-GNL/59A 34




_ The Citizenship Act, 1955 deals v
determination of citizenship i: with the
or after

'(a) 26th January, 1950
(b) 26th November, 1949
(c) 15th August, 1947
(d) 14th August, 1947

96. According to the National = Multi-
dimensional ~ Poverty  Index (MPI)
constructed by the NITI Aayog
a household is considered deprived if ’

1. a single member of the household
is identified as under-nourished

0. the body mass index of a woman

member,  between 15 years
and 49 years of age, is below
185 kg/m>

Select the correct answer using the code

given below.
¢ (@) 1 only

(b)
(c) Both 1 and 2

2 only

(d) Neither 1 nor 2

of ‘Rayagajakesari’ apd
re associated with

Jowing dynasties?

97. The titles
‘Dayagajakesari’ W€
which one of the fol

(a) Kakatiya
Vijayanagard

Gajapati

Rashtrakuta

] 35
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the musica]

98, Name the location of usical
inscription containing groups o f his
notes arranged for the benefit ® th

pupils by a king in the geventh OT el

century CE.

(a) Ennayiram

(b) Uttaramerur

(c) Siyyamangalam
(d) Kudumiyamalai

t of eighteenth century
PDastak™?

99, In the contex
India, what was

(@) Signature
(b) Land document
o(c) Trade permit

(d) Tax on textiles

100. Which one of the following was primarily

associated with ‘Dadni’ system?
(a) Textile production
(b) Warfare

(c) pPayment to officials

(d) Revenue collection

[P.T.O.
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101. T WA e % an d Pt 108, W % wh v A FeElarEd B

mﬁ'«wﬁwaﬁm: foram s

1 3R i 4 & @ W fBr R 1. A dag @ fififa 29 )

2. HUMEH WU & oy ugeh ofv vl 2. W A TEAE AR R A sy
WA CE ¥ w19 & § ¥ 81 Aot s forelt i Tem A ),

3. W WE W R e f wiem freh 3. A 9 gt F AR B A g

o) ‘Frerg-3fid (anvil tops)’ S 2 3|
R TR ?
T R & ¢ ferdiwanati % MU T A TR Fi e
(@ ¥ 1 3R 2 Hifsre | |
(b) ¥ 2 3 3 (@) T FUE 79 (Stratocumulus)
() ¥aa 13k 3 |
(b) HE I A9 (Cumulonimbus)
d 1,233

(c) &I FHUTER g (Cirrocumuius)

102. % aR ¥ frafafeg § @ ¥9-3
?—:g?ﬁ A (d) quTERY Y (Nimbostratus)

1. v—vl'lﬂTg@ E C Sl (strength) !
sl TRl gEEie  (Volcanic

Explosive Index) ¥ HT41 STl | 104. ¥ M@ W WeRid w1 =mwd & 5w

2. ¥EEae IR feefdte, SaemgE fen TR 3 F A TR, AHA:, SHEEI] FHFR 37N
(volcanic activity) & fififa gT 2 Harell ) wen e ¥ weivd ¥ i %

3. aTeE g e, el ot 3k At fo fefafas & @ FF-w wifis 3wgw
Fan T A FR R EER R am?

F few T 2 h1 g = EE S g (@) I (Pie chart)
Fad 1 3R 2

@ (b) REALTE (Scatter graph)

(b) Fad 2 ¥ 3

& Emisia (c) ¥R (Bar chart)

d 1,2 #fn 3 (d) it o (Triangular graph)

JNBY-D-GNL/59A 36



pr

consider the following statements about
(03 Kan aganahalli archaeological site : |

L.

It is situated on the bank of Bhima
river.

The remains of the Kanaganahalli
Stupa can be dated between
1st and 3rd centuries CE.

Emperor Ashoka’s image was found
at the site.

which of the statements given above are

correct?

(@ 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

102. Which of the following statements about
volcanoes are correct?

1.

Select the correct answer using t

The strength of a volcano
is measured by the Volcanic

Explosive Index.

Iceland and Philippines Were
created by volcanic activity.

Volcanic soils are rich, deep
and fertile and allow intensive

agriculture to take place.

he code

given below.

(@ 1 and 2 only
(b) 2 and 3 only
() 1 and 3 only
(d) 1,2 and 3
N
B-D_GNL/s9A 37

103. Consider the following characterl

stics of
a cloud type :

1. They are born through convection.

2. Only cloud type that can produce
hail, thunder and lightning.

3. They are large cauliﬂower—shaped

towers, often ‘anvil tops’.

Identify the type of cloud on the basis

of the given characteristics.

(@) Stratocumulus

e (b) Cumulonimbus

(c) Cirrocumulus

(d) Nimbostratus

104. Meena wants to show diagrammatically

how two sets of data, namely,
population size and number of services
are related to each other. Which one of
the following will be the most suitable
for the presentation?

(a) Pie chart
(b) Scatter graph
(c) Bar chart

(d) Triangular graph

[ PO,




105. fsfafea sl o=t & A g o
Fe-Yw 7

(@) ﬁﬁﬂi‘l‘g
(b) TS

(c) WRRE
(d) 3Ty Tw

106. ﬁwﬁwﬁgamﬁém-m/am-ﬁw%/’é?
L. TeeTEreT e T g-aeg v 2
2. IHER T T 9l oo 2

ﬁﬁqm&m%wqﬁwgﬁm
(@ FI@ 1

(b) ¥ 2

(c) 13K 23

(d Ad1dTH 2

107. 3 2011 3R 2021 % #9 wRg F TR

&1 4 g g ¥ il T sl ¥ 4w
WA % o areaa 4 A e o g ¥

(@) ¥fd ¥1 99 70 wfiwa ¥ s fraw
H9TA1 (canopy density))

(b) WM @ 99 (40-70 Wfawd % &=
faam weean)

(c) G a1 (10-20 Yfawd & = fgam
Y1)

(d) (b) HN (c) ANl

JNBY-D-GNL/59A
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108. Wi fn Afa, 2020 # wEA Frf,
oyt T ferm A

1. af 2025 @ A A FEW fy,
yoell % e A FA-H-FA 50 3y,
fernfifatt =) =ty e 9 s,

2. weafh foed, smRo Ao,
iferefes ot @ @ ¥ g,
Hedm H |

3. =AEwiy® fan faow €9 4 M-my
St (NGOs) g/ Y&H i S|

I FAl F A BH-T/FA-Y G R/
(@) *ad 1

(b) = 1 3R 2

() ad 2 3R 3

(d 1, 23R3

109. fifd (NITI) °mm % HTER, fefafad 3 |
Tl 1 FH- W, T Te o o W@
HEHI®, 2020-2021 (Composite SDG
India Index, 2020-2021) # ga® = 27

(@) TGN, AREE, faER
(b) IW W, FREe, far
(c) IW W, foer, swm

(d) snfem, famr, smEe



- of the f i .
6. which oncl: o 0110“}11g Indian States
nas the long coastline?

(a) Tamil Nadu
ob) Gujarat
(c) Maharashtra

(d) Andhra Pradesh

5. Which of the following statements is/are
correct?

1. Visakhapatnam Port
locked harbour.

is a land-

7. Deendayal Port is a tidal port.

Select the correct answer using the code
given below.

(@ 1 only
(b) 2 only
(¢ Both 1 and 2

(d) Neither 1 nor 2

107. There is an increase in forest cover area
of India between 2011 and 2021.
However, there is a decrease in forest
cover area of India during the same
period in

(a) very dense forest (canopy density of
more than 70 percent)

(b)) moderately dense forest (canopy
density between 40-70 percent)

(c) open forest (canopy density
between 10-20 percent)

(d) Both (b) and (c)

Ney_

" snts
108. Consider the following stateme

: D -ation
concerning the National fEduca

Policy, 2020 :

1. At least 50 percent of the lcafnCTS
through  school and higher
education system to get exposure
to vocational education by 2025.

2. Secondary schools ShOL-lld
collaborate with ITIs, Polytechnics
and local industries.

3. Vocational education to be
exclusively provided by NGOs.

Which of the statements given above
is/are correct?

(a) 1 only
s (b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and 3

109. Which of the following sets of States

is at the bottom of the Composite
SDG India Index, 2020-2021 as per
the NITI Aayog?

(a) Assam, Jharkhand, Bihar
(b) Uttar Pradesh, Jharkhand, Bihar
(¢) Uttar Pradesh, Bihar, Assam

(d) Odisha, Bihar, Jharkhand

D-GNL/50A 39 | P.T.O.



110. fyfafen X A -, v ¥ GRuE ¥

TR 51 H1 WM T {7
(@) iga wify ik ween ) wgEn 3

() U@%ﬁﬁwﬁnﬁsﬁtwm@mdtﬁ
N T @

() g fak % woum ¥ fw un
wifa ¥ &1 W™

(d) WEY TR ARIFY =) F AR &
o eafea s

111. ¥4 4 3R, -FRAg e (NAM) & e

=W (formative phase) § F3d Aga o
Rl I

(@) FA TFATE (Kwame Nkfumah)

(b) FHTA 3Feedd AW  (Gamal Abdel

Nasser)
(c) FATEATA TE&

(d) f#e@ FTE) (Fidel Castro)

JNBY-D-GNL/59A

112, acant & da d, Frfofen § 4 2.4,

N

) &7 #
1. A um a% 3 frerwn 4

2. ﬁmmmqﬂ?ﬁmm
ER e

3. a wAgfiH 89 (Deccan) #n e §
o]

o fou 2 w1 A W EE I g
(@) FaA 1 3R 2
(b) Had 2 3N 3
(c) w133
(d) 1, 2 3R 3

113. e ®, fmen § st ohwg 1 afteis

T ¥ WHGRT A 9T G99 I8 I560E
T AP a7

(@) 1 A"
(b) TE STR
(c) <€ AN
(d) Taferm dfés

114, T=E & FHHHET T F Sad & SR A WG

w1, 773 s 1 e T A B 27
(a) TN G

(b) 3T UTelRt

(c) WTETER AHTS

(d) 3 ya



- f the following : the
which one © ollowing is no ich of
: : S not ; hic
0 of Article 51 of the Constitutiq p 112. In respect to Balutedars :corrcct?
lndia? on of statements given below 2 nd
scrvants 2

1. They were village

artisans. ‘ dividual
(a) Promc‘>te international peace and 2. They were employed by 1
security peasant family. e il
3. They existed in the Medie¥
Deccan and Maharashtra-
(b) Maintain just and honourable Select the correct answer using the code

relations between nations

given below.

(@ 1 and 2 only

W (€ Use of UN peacekeeping force for (b) 2 and 3 only

resolution of international disputes

(¢ 1and3 only

(@d 1,2 and 3

(d) Encourage settlement of inter-
national disputes by arbitration

i11. Who among the following was not in

the core leadership of the

Movement (NAM) in its formative phase?

(a) Kwame Nkrumah
() Gamal Abdel Nasser
(c) Jawaharlal Nehru

(d) Fidel Castro

‘JN
8Y-D_GNL/59A

113. Which one of the following Viceroys was
the first to officially shift his Council
to Simla in summer season?

(@) John Lawrence
(b) Lord Dalhousie
Non-Aligned () Lord Mayo

(d) William Bentinck

114. Who among the following is the author
of Maze Vidyapeeth, the famous poem
about the life of working class of
Bombay?

(a) Narayan Surve
(b) Amol Palekar
(c) Bhalchandra Nemade

(d) Narendra Jadhav

4 (P.T.O.
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115. T ¥ v 19T=ﬁsmé1ﬁﬁqmiamﬁ
gt ) off?

(a) UYTHTT o
(b) T W T
(c) TREHEY SR
(d) FE §R W

116. 3 ¥, 2021 F WY Y WE@W g fHR
fFT M wwew § 9§ 2023 N frad R
FRIEE T R & foly R e

@ wuoiy fagm % o dfw RAas

(Basic Sciences)
) ¥
(c) e (Millets)
(d) 32 (Camelids)

117. #ifds 7ao@, FE ICC g T20 ey,
2022 # AR dH Yo (2RF) ww H 2,
e <0 =1 wfafaftres e 27

(a) o=
(b) FIFH I AT
(c) Hias
(d) efifern

118. TET T (Wassenaar Arrangement) *
gay § Frafafaa § @ #9-w F9F 9@ T
27
(a) 7@ =HaE § 42 wfawrh 3w i@ )
(b) THE T T Th TY BER
Erikica (nuclear weapon overseer) Ed

&9 1 o )
(c) T 3A A1 1 GEAH AEE B

(d) ¥@ 7@ wgaen § ad 2017 # wiH
7l

JNBY-D-GNL/59A

119. 71 @ fR T

(Payy,.
Express) % AT @ STAT ST 27 1

(a) fem e

(b) Fh =@

(c) o Zo I

(d) TER Az

120. @i ot QEHR, 2022 % famms 3

weftr geh-1 # gh-11 & =g galea Fifim
R gt & 4R g e g2 o = w
Wﬂﬁ‘{:

Sy en

(e w1 AT 3 frem) (FT=)

A. 47 99 (FEH-EIR) 1. HHA TN
B. grdl # W (Ffam- 2. donm

HIR)
C. B ¥Y% (e&-¥We) 3. & TREW
D. 3fog 341 (A1eh) 4. TAS FAR TRETH
e :
@ A B C D
1 2 3 4
) A B C D
1 3 2 4

@ A B C D

@A B C D



Who among the fOllOwing
$

he fgindu Dharma Saphga
19th Century?

founded
in  the

@ radhakanta Deb

) Ram Mohan Roy

" Dwarkanath Tagore
(d) Keshab Chandra Sen

resolution adopted b :

;, The Sy Yy the United
Nations € ssembly on 3 March
2021 decided to celebrate the year 2023’
as the International Year of

@ Basic Sciences for Sustainable
Development

(b) Glass
o [0 Millets
(d) Camelids

7. Karthik Meiyappan, who  secured
hat-trick in the ICC Men’s T20 World
Cup, 2022, represents

(@) Zimbabwe
(p) United Arab Emirates

2 i knoWn
119. Who among the following
‘Payyoli Express’™?

dfq& Hima Das
® () Dutee Chand
(c) P.T. Usha

(d) Shiny Abraham

120. Match List-1 with List-1I
Sahitya Akademi Award winners,
and select the correct answ
code given below the Lists -

List-1I
(Author)

List-1
(Title and Genre)

A. Bhool Satya (Short 1
Stories)

B. Tumadi Ke Shabd 2
(Poetry)

Chhe Roopak (Drama) 3.

relating to
2022

er using the

Kamal Ranga

Veena Gupta

Badri Narayan

e (c) Sri Lanka D. Alekhun Amba (Play) 4. Manoj Kumar
(@ Namibia Gipswami
18, Which one of the following statements Code :
about the Wassenaar Arrangement is
not correct? (@) A B D
S o e . 1 2 3 4
(@) There are 42 participating nations
in the Arrangement. (b) A B C D
(b) 1t is formed primarily as a nuclear 1 3 2 4
Wcapon OoVerseer.
c) A B
(c) India is the current Chairman of (c) a 3 g ?
the Arrangement.
(d) India joined the Arrangement in (@ A B Cc D
the year 2017. " 2 & i
Y-D-GNL/s9A 43
RO,
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